6 5
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A 1115/2018 | RGM
B UPDATED TO CURRENT REVISION 112/2021 | KC

(124130 SLIDE TRAVEL )

(12+.079 SLIDE LENGTH ———

+.031
(757000 )

= L 1 &
,Z: ® ° 0 o o o oo @ O O OO
1.28 = - - 1 &
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-12L-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 12" 3500 SERIES SLIDE, LEFT ZINC PLATE
SIDE SPACE =.750" - .783" I/?ﬁ
NOTES: it
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml 6 DATE | 57772020 | 11272021 | 17772021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0° SCALE. 14 DO NOT SCALE SHEET10F 2
6 5 4 2 1



( 1.252+.012 )

7.248+.020

/—( 3X .394+.008 X .299+.008 )

E@/@@e}

o O

(" 4X 2994008 THRU )—/

( 1.181£.012 )
( 2.248+.012 )

(" 3X ¢.205+.008 THRU )\

( 1.126.008 )

—( 2.752+.012 5.559+.016

(2252012 )

3.000£.012

/—( 3X .374+.008 X .205+.008 )

=]

L~

@Q/{}o &

Foo |E

=
L] !
((.205£.008 X .457+.008
+
.358+.008 - 522008
(.748£.008 ) (£1.000£.008 )

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

PART NUMBER: MATERIAL:
I-DS-3500-12L-5 STEEL
DESCRIPTION: FINISH:
12" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
= | RYADBDN INC.
NS
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 5/7/2020 | 1/12/2021 1/7/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2
2 1



( 12£.079 SLIDE LENGTH )——

6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 | RGM
B UPDATED TO CURRENT REVISION 217201 | KC
/ N
{ 12+.130 SLIDE TRAVEL )
E —]
~ ©® o) o o o oo
E —J
1.28
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

- 1 N
@ O O OO
[ 1 &
2.99+.008
PART NUMBER: MATERIAL:
I-DS-3500-12R-5 STEEL
DESCRIPTION: FINISH:
12" 3500 SERIES SLIDE, RIGHT ZINC PLATE
W anN
= RYARDN INC.
A\r g
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1112/2021| 2/17/2021 2/16/2021
SCALE: 1:4 DO NOT SCALE SHEET 1 OF 2
2 1



( 1.252+.012 )

(4X ¢.299+.008 THRU )—/

5

4

7.248+.020

/—( 3X .394+.008 X .299+.008 )

Kt@/o

©® @O

i

( 2.752+.012 )

(3X .205+.008 THRU )\ —
%\ﬂ] @

( 1.181£.012 )

2.248+.012

5.474+.016

( 1.126+.008 )
2.252+.012

4 G -

(13X .374.008 X .205+.008 )

Il

STAL:

=]

((205+.008 X .457+.008 )

[ 1]

NOTES:
DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

SURFACE FINISH REQUIREMENTS.

NSO R~

6

( .748+.008 )

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.
MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

CRITICAL DIMENSIONS ARE INDICATED BY:
TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

5

{_ 1.000+.008 )

PART NUMBER:

[-DS-3500-12R-5

MATERIAL:

STEEL

DESCRIPTION:

12" 3500 SERIES SLIDE, RIGHT

FINISH:

ZINC PLATE

AN
ISO
g

9001:2015

RYAERDN INC.

XX[X] = +0.03 [0.8mm]
XXX [XX] =
XXXX [XXX] =
FRACTIONAL = + 1/32"
ANGULAR: + 10°

UNLESS OTHERWISE SPECIFIED:

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

DIMENSIONS ARE IN INCHES [mm]

+0.015 [0.38mm]
+ 0.0080 [0.203mm]

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1112/2021| 2/17/2021 2/16/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2
2 1



6 5 4 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11152018 | RGM
B UPDATE TO CURRENT REVISION 1/12/2021 KC
< +.031 )
~———(14£.130 SLIDE TRAVEL ) ( 14£.079 SLIDELENGTH }————~
= = - 1 N
= =0
[_/-_\_]Io[]oo o oo o @ DDOOOO
1.28 | = =
! [ 1 &
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-14L-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 14" 3500 SERIES SLIDE. LEFT ZINC PLATE
SIDE SPACE =.750" - .783" I/?O
NOTES: it
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DO NOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS. PIENSIONSARE ININCHES [ THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
5. CRITICAL DIMENSIONS ARE INDICATED BY: C D) XX[X] = +0.03[0.8mm]
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 [0.38mm] NAME KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml DATE | 3612020 | 11272021 | 17772021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 10" SCALE. 14 DONOT SCALE SHEET1OF 2

6 5 4

2

1



/—( 3X .394.008 X .299+.008 )

6 5 4 3
( 1.252+.012 ) { 9.248+.020 )
~ ) & o oo
I

(" 3X (.299+.008 THRU )J

( 2.248+.012 )

( 1.126+.008 )
( 2.252+.012 )

3.000£.012

~( 2.752+.012 6.559+.016 /—(4x 374+.008 X .205+.008 )
[ 1 '
[:]I o }} /}9 & 65 o o &
7
+
("205+.008 X 457+.008 )—/ 1.000+.008
1.752+.012
(_2X ¢ .205+.008 THRU (7522012 ) (2500£072)
:748i008 :1 .000+.008 PART NUMBER: MATERIAL:
[-DS-3500-14L-5 STEEL
DESCRIPTION: FINISH:
14" 3500 SERIES SLIDE, LEFT ZINC PLATE
ISO
1.~ DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DO NOT SCALE DRAWING.
3. BREAK ALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: PROPRIETARY AND CONFIDENTIAL
4 MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN ENSONS RE N NEHES T O D O D AL A ity REFRODUCTION
SURFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY  [REV
6. TOBE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XOKXX) = + 0.015 0.38mm) NAME | KCHEN | B PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$°°§°1[g§°3mml 6 DATE | 3612020 | 11272021 | 17772021
8.  GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR. 2 10° SCAE 13 O NOT SCALE SEETI 053
6 5 4 2 1



6 5 4 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE

A (REV 1 SAME AS REV A) 11152018 | RGM

B UPDATE TO CURRENT REVISION 2712021 | KC

~——(14+.130 SLIDE TRAVEL ) (" 14+.079 SLIDE LENGTH )
< +.031 >
.75 - .000
= L T &
[Z]I © 0 o o o ooo @ O O OO0
E —J
1 [ 1 &
1.28
2.99+.008

RECOMMENDED

INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUNBER: MATERIAL:

[-DS-3500-14R-5 STEEL

OUTER SLIDE MEMBER: DESCRIPTION: FINISH:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 14" 3500 SERIES SLIDE, RIGHT 7INC PLATE

SIDE SPACE = .750" - .783" If?«b

NOTES: it

1. DIMENSIONS APPLY AFTER FINISH. 9001:2015

2. DONOT SCALE DRAWING.

3. BREAK ALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: ORVATION GO s B e DN, RYADON INC. 0DUCTIO
4 MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN T PART OR AS AWHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. 16 PROHBITED. "

SURFACE FINISH REQUIREMENTS DIMENSIONS ARE IN INCHES [

5 CRITICAL DIMENSIONS ARE INDICATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV

6.  TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XRK[XX] = + 0015 0.38mm] NAME | KCHEN | we PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml 6 DATE | 111220211 211772021 | 211672021

8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 10 SCALE 14 50 NOT SCALE SEETTOF2

6 5 4 2 1



6 5 4
(1.252£.012 ) ((9.248£.020 )

/—(3x 394.008 X .299+.008 )

[EIQ/@ o
(3X ©.299+.008 THRU )—/

o OO

( 2.248+.012 }

~—{( 2.752+.012 6.559+.016

( 1.126+.008 )

( 2.252+.012 )

{_3.000£.012 )

@,

~ 08

=

(2052008 X 457%.008 )—"—

(.748+.008 ) {_1.000+.008 )

NOTES:
. DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.

GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

NSO R~

(_ 1.000+.008 )
<2X $ .205+.008 THRU 1.752+.012

{_ 2.500+£.012 )

/—(4x 374,008 X .205+.008 )

PART NUMBER:

[-DS-3500-14R-5

MATERIAL:

STEEL

DESCRIPTION:

14" 3500 SERIES SLIDE, RIGHT

FINISH:

ZINC PLATE

AN
ISO
g

9001:2015

RYAERDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 A DATE | 1/12/2021| 2/17/2021 2/16/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2
3 2 1



6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A 1115/2018 | RGM
B UPDATE TO CURRENT REVISION 11202021 | KC

16+.130 SLIDE TRAVEL >

( 16+.079 SLIDE LENGTH

+.031
75_"000

= = ™
[:Itl o 0o o o o ooo @ o 0 OO
1.28 = 12
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-16L-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 16" 3500 SERIES SLIDE. LEFT ZINC PLATE

SIDE SPACE = .750" - .783"

NOTES:

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

NSO R~

AN
ISO
g

9001:2015

RYAERDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1/28/2020| 1/12/2021 1/7/2021
SCALE: 1:5 DO NOT SCALE SHEET 1 OF 2
2 1



( 1.252+.012 ) { 11.248+.020 )

/—( 3X .394+.008 X .299+.008 )

~ S o

&

© &

(3X .299+.008 THRU )J ((2.248+012)

( 1.126+.008 )

( 2.252+.012 }

—{( 2.752+.012 8.559+.020

/—( 4X .374+.008 X .205+.008 )

N

o &
|E© /e

!
(.205+.008 X .4571.008)—/

(3X .205+.008 THRU

( .748+.008 ) {_1.000+.008 )

NOTES:

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

NSO R~

(1.752£.012 }

{ 2.500£.012 )

3.000£.012

PART NUMBER: MATERIAL:
I-DS-3500-16L-5 STEEL
DESCRIPTION: FINISH:
16" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1/28/2020| 1/12/2021 1/7/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2

2

1



6 5 4 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11115/2018 | RGM
B UPDATE TO CURRENT REVISION 211712021 KC
~————(16£.130 SLIDE TRAVEL ) ((16£.079 SLIDE LENGTH }——
+.031
75000 ~
= [ (o XN
EHI © 0o o o o ooo @ O O OO
E ! [ 2
1.28
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-16R-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 16" 3500 SERIES SLIDE, RIGHT ZINC PLATE
SIDE SPACE = .750" - .783" If?«b
NOTES: S
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAK ALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: ORMATION CO S A OF RYADON INC. 0DUCTIO
4 MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN T R PART, OR AS AWHOLE WITHOUT THE WRITTEN PERVISSION OF RYABON INC. 16 PROHIBITED. "
SURFACE FINISH REQUIREMENTS DIMENSIONS ARE IN INCHES [
5 CRITICAL DIMENSIONS ARE INDICATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = * 0,015 [0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. -XXXXF[F-{%,ogA$2°§°1[g§°3mml 6 DATE | 111220211 21772021 | 211672021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0 SCALE 15 DONOT SCALE SHEETTOF2

6 5 4

2

1

A



(1.252+.012 }

{_ 11.248+.020 )

gid

(3X ©.299+.008 THRU )—/

(2248012 )

~(2752+£.012 )

~—( 3.500+.016 )=

8.559+.020

( 1.126+.008 }
(2.252+.012 }

/—(3x 394+.008 X .299+.008 )

O OO

3.000£.012

/—(4x 374+.008 X .205:.008 )

il

"Ar s °

]

(205+.008 X 457+.008 »—"
(3X ©.205+.008 THRU

( .748+.008 )

NOTES:

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

SURFACE FINISH REQUIREMENTS.
CRITICAL DIMENSIONS ARE INDICATED BY:

NSO R~

GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLL
6 5

{_ 1.000+.008 )

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.

ED BY 3D MODEL.

(_ 1.000+.008 )

( 1.752+£.012 )

{ 2.500+£.012 )

PART NUMBER: MATERIAL:
I-DS-3500-16R-5 STEEL
DESCRIPTION: FINISH:
16" 3500 SERIES SLIDE, RIGHT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1112/2021| 2/17/2021 2/16/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2
2 1



6 5 4 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 RGM
B UPDATE TO MATCH VENDOR PRINT 1/12/2021 KC
+.031
5_000 —
18+.130 SLIDE TRAVEL ) ‘ ( 18+.079 SLIDE LENGTH
= = I
[:IIIOOOO ) o o ooo @ |:|[[j O o oo
128 E - 1 &
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-18L-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 18" 3500 SERIES SLIDE, LEFT ZINC PLATE
SIDE SPACE =.750" - .783" I/?O
NOTES: it
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml 6 DATE | 11282020 11272021 | 1/6/2021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0° SCALE. 15 DO NOT SCALE SHEET10F 2
6 5 4 3 2 1



( 1.252+.012 ) {_ 13.248+.020 )

/—(3x 394,008 X .299+.008 )

K o

o O

((3X .299+.008 THRU )J ((2.248:.012 )

( 1.126+.008 )
( 2.252+.012 )

—(2.752+.012 )=~ 3500+.016 )=

8.189+.020

10.559+.020

L

=]

LT

//69

& &
|E© 4

!
((.205+.008 X .4571.008)—/

(15X .374+.008 X .2051.008)—/ 1.000+.008

(3X .205+.008 THRU

( .748+.008 ) {_ 1.000+.008 )

NOTES:

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

NSO R~

( 1.752£.012 )

{( 2.500+.012 )

{3.000+.012 )

PART NUMBER: MATERIAL:
I-DS-3500-18L-5 STEEL
DESCRIPTION: FINISH:
18" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1/28/2020| 1/12/2021 1/6/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2

2

1



6 5 4 3 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 | RGM
B UPDATE TO MATCH VENDOR PRINT 2/17/2021 KC
(" 18+.130 SLIDE TRAVEL ) : (( 18+.079 SLIDE LENGTH }————~ 031
75 =
1¥-.000
= = L =
[—\_J-I[I © Do o o o o ooo @ O O OO
= - — 7
1.28
2.49+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-18R-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 18" 3500 SERIES SLIDE, RIGHT ZINC PLATE
SIDE SPACE =.750" - .783" I/?ﬁ
NOTES: it
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. ,\SALLJJSEA'—(‘ZAI\EVIFEII\TI(S) F?EESL(I:QEI\?EE#\ISGS DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE N INCHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
5 CRITICAL DIMENSIONS ARE INDICATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml 6 DATE | 111220211 21772021 | 211672021
8. EOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: * 1.0 SCALE 15 DO NOT SCALE SHEET10F 2

6 5 4

2

1



(1.252+.012 ) { 13.248+.020 )

/—(3x 394,008 X .299+.008 )

I_/_\_I[Q @

o OO

(_3X .299+.008 THRU )—/
((2.248£012)

10.559+.020
8.189+.020

( 1.126+.008 )
(2.252+.012 )

—( 2752+.012 )~—( 3500+.016 )=
Myt A g e e <

I /

(205+.008 X 457+. 008)—/

(3X .205+.008 THRU )J

( .748+.008 ) {_ 1.000+.008 )

(_ 1.000+.008 }
( 1.752+.012 )

—( 5X .374.008 X .205+.008 )

{2.500+.012 )

{3.000£.012 )

PART NUMBER: MATERIAL:
[-DS-3500-18R-5 STEEL
DESCRIPTION: FINISH:
18" 3500 SERIES SLIDE, RIGHT ZINC PLATE
ISO Y A
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN TH|SFEII<(A)\F\I\IIIIEGTI\SR II-IIENgo?.gII’IIgsEEIII OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. xx)>(<)>(<x I&))((I :%%2)58([)03%11] NAME | KCHEN MB PN B
| SRR SR | R | oo £ | A [ Do e | e
i : ANGULAR: + 10 SCALE: 13 DO NOT SCALE SHEET 2 OF 2

6 5 4

2

1



6 5 2
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11152018 | RGM
B UPDATE TO CURRENT REVISION 1/12/2021 KC
+.031
-5_000
| ({20£.130 SLIDE TRAVEL ) ‘ (20£.079 SLIDE LENGTH ) |
= = =
l:ﬁl o 0o o o @ |:| D O o oo
F
1.28 ! &
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-20L-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 20" 3500 SERIES SLIDE, LEFT ZINC PLATE
SIDE SPACE =.750" - .783" I/?O
NOTES: it
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DO NOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 [0.38mm] NAME KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml 6 DATE | 11282020 11272021 | 17772021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0° SCALE 15 DONOT SCALE SHEET1OF 2
5 2 1

6



( 1.252+.012 } { 15.248+.020 )

/—(3x 394+.008 X .299+.008 )

~ ) & o oo

{( 1.126+.008 )
C3X ©.299+.008 THRU { 2.248+.012 )
( 2.252+.012 )

3.000+.012

(12.559+.020 )
(10.189£.020 )
—(2.752+.012 )=~ 3500+.016 )=

L

o

o @ @ ® © oo
- / s
1
(72054008 X 457+.008 )—/ ((5X 374+.008 X .205+.008 )—/ 1.000+.008
(1752012 )
((3X (.205+.008 THRU (2500012

PART NUMBER: MATERIAL:
7282003 1 000£.008 [-DS-3500-20L-5 STEEL
’ — ’ — DESCRIPTION: FINISH:
20" 3500 SERIES SLIDE, LEFT ZINC PLATE
N
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 I ‘ \
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.

5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 [0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$°°§°1[g§°3mml 6 A DATE | 11282020 11272021 | 17772021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0° SCALE 13 DO NOT SCALE SHEET20F 2

6 5 4 3 2 1



(_20+.079 SLIDE LENGTH )

6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/152018 | RGM
B UPDATE TO CURRENT REVISION 211712021 KC
((20+.130 SLIDE TRAVEL )
= =
|ZHI © Jo o o o o ooo
L E )
1.28

RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" -

783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

- Ty
@ o o oo
[ 1 &
2.99+.008
PART NUMBER: MATERIAL:
-DS-3500-20R-5 STEEL
DESCRIPTION: FINISH:
20" 3500 SERIES SLIDE, RIGHT ZINC PLATE
SR
= | RYADIDN INC.
2
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1112/2021| 2/17/2021 2/16/2021
SCALE: 1:5 DO NOT SCALE SHEET 1 OF 2
2 1

A



(1.252+.012 }

(15 9248+ 020 )
15.248+.020

( 15.248%. )
3X.394+.008 X .299i.008>
[I_JIQ S o o oo
(3X ®.299.008 THRU )—/ ("1.126+.008 )
2.248+.012
(22482012 ) (22522012
{ 3.000£.012 )
{ 12.559+.020 )
(101892.020 ) /—(5x 374+.008 X .205+.008 )
{ 10.189%. )
-~ 2.752+.012 )~ 3.500+.016 )=
[T
=
~y CAp e e <
IE
!
((.205£.008 X 457+.008 )—~ (1.000£.008 )
+
(3X .205+.008 THRU (7526012
(" 748+.008 ) ("1.000+.008 ) 2.500+.012
PART NUMBER: MATERIAL:
[-DS-3500-20R-5 STEEL
DESCRIPTION: FINISH:
20" 3500 SERIES SLIDE, RIGHT ZINC PLATE
ISO
1.~ DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DO NOT SCALE DRAWING.
3. BREAK ALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: EROPRIETARY AND CONFIDENTIAL
¢ MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE INPERFECTIONS OTHER THAN ENSONS RE N NEHES T D T T G OF b by REPRODUCTION
URFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6.  TOBE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XKK[XX) = + 0,015 [0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$°°§°1[g§°3mml 6 DATE | 111220211 21772021 | 211672021
8.  GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: 2 10° SCALE 13 50 NOT SCALE SEET2072
6 5 4 2 1




6 4 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 | RGM
B UPDATE TO CURRENT REVISION 1/12/2021 KC
+.031
75000
(224130 SLIDE TRAVEL ) ‘ (22+.079 SLIDE LENGTH ) |
= N
[:I[lo[]oo o o o ooo @ |:||I:I O 0 OO
1.28
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-22L-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 22" 3500 SERIES SLIDE, LEFT ZINC PLATE
SIDE SPACE = .750" - .783" I/?O
NOTES: Nt
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DO NOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS DIMENSIONS ARE IN INCHES [
5 CRITICAL DIMENSIONS ARE INDICATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml 6 DATE | 11172020 11272021 | 17772024
8. EOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: 1.0 SCALE 15 DONOT SCALE SHEET1OF 2

6

2

1

A



/—( 3X .394+.008 X .299+.008 )

3.000£.012

6 5 4 2
((1.252£.012 ) ((17.248+.020 )
e o ° oo
I
((1.126+.008 )
(3X ¢.299+.008 THRU ((2.248+012 )
((2252+012 )
(14.559+.020 )
((12.189+.020 )
—(2.752+.012 )= 3500+.016 )=
L
o

/,69

& &
|E© it

1
((205:+.008 X .457+.008 )—/

((5X .374+.008 X .205+.008 )—/

(3X ®.205+.008 THRU

( .748+.008 ) {_1.000+.008 )

NOTES:

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

NSO R~

( 1.752+.012 )

{_2.500£.012 )

PART NUMBER: MATERIAL:
I-DS-3500-22L-5 STEEL
DESCRIPTION: FINISH:
22" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1117/2020| 1/12/2021 1/7/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2
2 1



6
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A 1115/2018 | RGM
B UPDATE TO CURRENT REVISION 21712021 | KC

(224130 SLIDE TRAVEL )

+.031
75000

(_22+.079 SLIDE LENGTH )

LT L X
KI[I © Do o o o o ocooo @ O O OO

T [ &

1.28
2.49+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-22R-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 22" 3500 SERIES SLIDE. RIGHT ZINC PLATE
SIDE SPACE =.750" - .783" I/?ﬁ
NOTES: it
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
PROPRIETARY AND CONFIDENTIAL
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS DIMENSIONS ARE IN INCHES [
A . THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
5. CRITICAL DIMENSIONS ARE INDICATED BY: C ) XX[X] = +0.03 [0.8mm]
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$2°§°1[g§°3mml DATE | 111220211 211772021 | 211672021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 10° SCALE 15 DO NOT SCALE SHEET10F 2
4 2 1

6

A



6 5 4 3 2 1
(17 228,020 )
(1.252£.012 ) ((17.248£.020 )
/—(3x 394.008 X .299+.008 )
IJ_\]IQ : ® o ©o
I
(2248012 ) ((1.126+.008 )
(3X .299+.008 THRU
(2.252+.012 )
(13.000+.012 )
(14559£.020 )
((12.189+.020 )
(27526012 ) (35002016 ) /—(5x 374£.008 X .205+.008 )
— .
=
e IV O <
=
1
(205+.008 X .4571.008))—:/ 0002 00
((3X ©.205+.008 THRU (17526012
(.748+.008 ) (1.000+.008 ) ((2500£.012 )
PART NUMBER: MATERIAL:
I-DS-3500-22R-5 STEEL
DESCRIPTION: FINISH:
22" 3500 SERIES SLIDE, RIGHT ZINC PLATE
AN
NOTES: S I A
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 [ )
DO NOT SCALE DRAWING.

PN B~

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 A DATE | 1/12/2021| 2/17/2021 2/16/2021
SCALE: 1:3 DO NOT SCALE SHEET 2 OF 2
3 2 1

A



((24+.079 SLIDE LENGTH )

6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAMIE AS REV A) 1111512018 | RGM
B UPDATE TO CURRENT REVISION 1/12/2021 KC
' (' 24+.130 SLIDE TRAVEL ) |
= J
[ LT =
RH o 0o o o o o o o ooo @ |:| ]
1.28 = =
RECOMMENDED
INNER SLIDE MEMBER:

#1

0 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

Sl

DE SPACE =.750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

PART NUMBER:

I-DS-3500-24L-5

MATERIAL:

STEEL

DESCRIPTION:

24" 3500 SERIES SLIDE, LEFT

FINISH:

ZINC PLATE

AN
ISO
g

9001:2015

RYAERDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1117/2020 | 1/12/2021 1/6/2021
SCALE: 1:6 DO NOT SCALE SHEET 1 OF 2
2 1

A



/—( 3X .394+.008 X .299+.008 )

f

6 5 4 3 2
(1.252£.012 ) ((19.248+.020 )
m@ @ @/@ ® @
(1.126£.008 )
((2.248£012 )

(3X .299+.008 THRU

6.000+.016

{ 14.189+. )

16.559+.020

{ 189+.020 )

( 2.252+.012 )

( 2.752+.012 ) ( 3.500+£.016 =

{_3.000£.012 )

= =
L-H : 28
° /e» ® ® o ¢ /;3 ® oo |.|=.EB
E |
205+.008 X .457+.008 )—/D (1.000+008 )
C ((5X .374+.008 X .205+.008 1.0004+.008
(55X .205+.008 THRU (1.752£.012 )
{ 2.500+.012 )
( .748£.008 ) { 1.000£.008 )
PART NUMBER: MATERIAL:
[-DS-3500-24L-5 STEEL
DESCRIPTION: FINISH:
24" 3500 SERIES SLIDE, LEFT ZINC PLATE
ISO
1.~ DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DO NOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: PROPRIELARY AND CONEIDENTIAL
4 MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN T O D O D AL A ity REFRODUCTION
SURFACE FINISH REQUIREMENTS. DIMENSIONS ARE IN INCHES [
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = * 0.015 [0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. -XXXXF[F-{%,ogA$°°§°1[g§°3mml 6 DATE | 11172020 | 11272021 | 1/612021
8.  GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 10 SCALE 14 DO NOT SCALE STEETI0F2
6 5 4 3 2 1



6 5 4 3 2 1
REVISIONS
REV. DESCRIPTION DATE BY
A INITIAL RELEASE 11/16/2018 RGM
B UPDATE TO CURRENT REVISION 2/17/2021 KC
+
75003 -
(_24+.130 SLIDE TRAVEL ) ' (24+.079 SLIDE LENGTH ) |
[ I—' —— &
[-\_J-ulo{]oo o o o o o ooco @ |:||]) O o oo
= = 1
1.28
2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
[-DS-3500-24R-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 24" 3500 SERIES SLIDE, RIGHT ZINC PLATE
SIDE SPACE =.750" - .783" I/?O
NOTES: 2
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DO NOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i‘éﬁ?%ﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
5 (S:H'?ﬁégf I{):III\NA:ESI\PI-{S'I:{()EI\(I)SUL%EN:EINDTCS ATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-{XAXcﬁ,OgA$2°§°1[g§°3mml 6 DATE | 11172021 | 21772021 | 211672021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0° SCALE 16 DONOT SCALE SHEET1OF 2
6 5 4 3 2 1

A



NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

(1.252£.012 )

3X .394+.008 X .299+.008 )

(3X .299+.008 THRU )—/ (2248012 )

3 2
{ 19.248+.020 )
l:]lg > o G/e e
(1.126+.008 )
( 2.252+.012 )
{ 16.559+.020 )

( 2.752+.012 ) 3.500£.016 )=

/—( 5X .374+.008 X .205+.008 )

m o/,o @ @

»

@ @ 235/

S LD

E|_|

(" 5X (.205+.008 THRU

(1.752£.012 )

(" 748+.008 ) {_1.000+.008 )

{ 2.500+.012 )

6 5 4

PART NUMBER: MATERIAL:
[-DS-3500-24R-5 STEEL
DESCRIPTION: FINISH:
24" 3500 SERIES SLIDE, RIGHT ZINC PLATE
ISO Y A
9001:2015 ]
PROPRIETARY AND CONFIDENTIAL
UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
DIMENSIONS ARE IN INCHES [mm]
XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
XXX [XX] = + 0.015 [0.38mm] NAME | KCHEN MB PN B
XXXX [XXX] = + 0.0080 [0.203
F[RACTIIOI\TAL =+ 1[/32” mm] @ 6 A DATE | 111712021 | 2/17/2021 2/16/2021
ANGULAR: £1.0 SCALE: 14 DO NOT SCALE SHEET 2 OF 2
3 2 1



6 5
REVISIONS
REV. DESCRIPTION DATE BY
A INITIAL RELEASE 1/12/2021 KC
26+.130 SLIDE TRAVEL )
m‘ o 00 o
1.28 -
RECOMMENDED
INNER SLIDE MEMBER:

(_ 26+.079 SLIDE LENGTH

o ococo b

® 1 °6)

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

ocoa

PART NUMBER: MATERIAL:
I-DS-3500-26L-5 STEEL
DESCRIPTION: FINISH:
26" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN A
@ 6 DATE | 4/28/2020| 1/12/2021 1/7/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1

A



{ 21.248+.024 )

( 1.252+.012 )

/—( 3X 394008 X 299+008) | D
a/ o o

P o
f
1.126+.008
(3X ®.299+.008 THRU (2248012 )
(2.250+.012 )
(13.000£.012 )
(185594020 ) c
( 16.189£.020 )

6.000+.016
( 3.500+£.016 =

( 2.752+.012 )
{_ .752+.008 )

I
il

L~

((.205£.008 X .457+.008 )—/D

(5X .205+.008 THRU

( .748+.008 )

&
&
8
8
uﬂﬁﬂ

@/;»@ ¢ ¢ ¢

o

(5X .374¢.008x.205¢.008)—/ (_1.000£.008 ) B
(1752012 )
(2500012 )

{_ 1.000+.008 )

PART NUMBER: MATERIAL:
[-DS-3500-26L-5 STEEL
DESCRIPTION: FINISH:
26" 3500 SERIES SLIDE, LEFT ZINC PLATE
N
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 I ‘ \
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.

5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 [0.38mm] NAME | KCHEN MB PN A
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-Q;XCﬁ,ogA$°°§°1[g§°3mml 6 DATE 141282020 | 11272021 | 17772021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0° SCALE. 14 DO NOT SCALE SHEET20F 2

6

5

2

1



({264,079 SLIDE LENGTH }———+

o ooo b

6 5
REVISIONS
REV. DESCRIPTION DATE BY
A INITIAL RELEASE 2/17/2021 KC
~———( 26+.130 SLIDE TRAVEL )
MJ ® Do o o
1.28 -
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

LT | I
@ |:| D O 0 oO D
2.99+.008
PART NUMBER: MATERIAL:
I-DS-3500-26R-5 STEEL
DESCRIPTION: FINISH:
26" 3500 SERIES SLIDE, RIGHT ZINC PLATE

> RYADDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN A
DATE | 1/19/2021 | 2/17/2021 2/16/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1

A



5 4 3 2 1
( 1.252+.012 ) 21.248+.024 )
— /—(3x .394:.008 X .299+.008 )
KJIQ \ o s/ o &
f
( 1.126+.008 )
{ 2.248+.012 )
(_3X ¢.299+.008 THRU (2252012 )
{ 3.000+.012 )
{ 18.559+.020 )
{ 16.189+.020 )
6.000+.016
( 2.752+.012 ) 3.500+.016 )= { .752+.008 ) 5X 374+.008 X .2051.008)
17
= L =
B o o o o ea/ o oo | ::
ﬁ B
((.205+.008 X 457+. oos)):// 10002008
(_5X ©.205+.008 THRU (1752£012) e
(" 748+.008 ) ("1.000£.008 ) —
PART NUMBER: MATERIAL:
[-DS-3500-26R-5 STEEL
DESCRIPTION: FINISH:
26" 3500 SERIES SLIDE, RIGHT ZINC PLATE
W anN
ISO
NOTES: S
; BWES?'SQEL‘EP&EX VA\}ng FINISH. 9001:2015
3. BREAK ALL SHARP EDGES AND REMOVE ALL BURRS. : EROPRIFTARY AND CONTIDFNTIA.
4 MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN ;::;;;s;:EAF:;V:::;:;F[';Z] TR T T AR NAVG, Y REFRODUCTION
5 ?}HII?FTQXI_EI{):IIANA:ES#S?OEI\?SUL%EMEINCSATED BY: (D XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XX [XX] = * 0.015 [0.38mm] NAME | KCHEN VB PN A
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. XXLXK = + 00080 [0 203 @ 6 DATE | 179/2021| 21172021 | 2/16/2021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: * 10° SCALE 14 50 NOT SCALE SEET2072
5 4 3 2 1



((28+.079 SLIDE LENGTH

©

1 °6)

6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAMIE AS REV A) 1111512018 | RGM
B UPDATE TO CURRENT REVISION 1/12/2021 KC
28+.130 SLIDE TRAVEL )
m‘ o 00 o o oo o o ocoo b
1.28 |~
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:
TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.

GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

O o0 oo

o r

PART NUMBER: MATERIAL:
I-DS-3500-28L-5 STEEL
DESCRIPTION: FINISH:
28" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 1/6/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1

A



(1252012 ) ((23.248+.024 )

/—( 3X 394008 X 299+008) | D

S o a/ 6 o

f

("1.126+.008 )
(3X ®.299+.008 THRU (2248012 )
(2252012 )
(13.000£.012 )

(20559+.024 ) C

(18 189+ 020 )
{ 18.189£.020 )

6.000+.016
( 3.500+£.016 =

( 2.752+.012 )
~=H_ .752+.008

I
il

L~

((.205£.008 X .457+.008 )—/D

(5X .205+.008 THRU

( .748+.008 )

&
&
8
8
uﬂﬁﬂ

(5 .374i.008X.205¢.008)—/ (_1.000+.008 ) B
(1752£.012 )
((2500+.012 )

{_ 1.000+.008 )

PART NUMBER: MATERIAL:
[-DS-3500-28L-5 STEEL
DESCRIPTION: FINISH:
28" 3500 SERIES SLIDE, LEFT ZINC PLATE
N
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 I ‘ \
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS. DIMENSIONS ARE IN INCHES [
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. -XXXXF[F-Q;XCﬁ,ogA$°°§°1[g§°3mml 6 DATE | 3612020 | 11272021 | 1/6/2021
8. EOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: * 1.0 SCALE. 14 DO NOT SCALE SHEET20F 2
6 5 4 2 1



6 5
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 | RGM
B UPDATE TO CURRENT REVISION 2/17/2021 KC
~——(( 28+.130 SLIDE TRAVEL )
I\_,IJ o 0o o o
1.8 -
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

' (28+.079 SLIDE LENGTH ———~

o ooo b

OUTER SLIDE MEMBER:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.
MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

=

® |:| W-E"E o o oo
5

= g -

PART NUMBER:
I-DS-3500-28R-5

MATERIAL:

STEEL

DESCRIPTION:
28" 3500 SERIES SLIDE, RIGHT

FINISH:

ZINC PLATE

> RYADDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
DATE | 1/19/2021 | 2/17/2021 2/16/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1

A



{ 23.248+.024

( 1.252+.012 )

((23.248+.024 ) 3X .394+.008 X .299+.008 )
D
[:]IQ /} o 8/ ©o o
(2.248£012) 11265008 —
(" 3X (.299.008 THRU T
—(3.000£.012 )
((20559+.024 ) C

{ 18.189+.020 )

{_.752+£.008 )

(CETsTa1E {35006 -
[

—( 5X .374+.008 X .205+.008 )

o /@/} S & & O Q{/ D B DD IZEE

=1 =

C 205+.008 X .457+.008
(_ 1.000+.008 )
C 5X ¢ .205+.008 THRU B
(1.752£.012 }

+ .000%.
748 .008 { 1.000+.008 ) :}2.5001.012
PART NUMBER: MATERIAL:
[-DS-3500-28R-5 STEEL
DESCRIPTION: FINISH:
28" 3500 SERIES SLIDE, RIGHT ZINC PLATE
ISO
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’??OAF\;W\E?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. xx)>(<)>(<x g(>><<>)<(] :%%2)58([)03%11] NAME | KCHEN MB PN B
| SRR SR | R | oo £ | A [ Do e | e
i : ANGULAR: + 10 SCALE: 14 DO NOT SCALE SHEET 2 OF 2
6 5 4 2 1



6 5
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A 1115/2018 | RGM
B UPDATE TO CURRENT REVISION 1122021 | KC

(_ 30+.130 SLIDE TRAVEL )

(_ 30+.079 SLIDE LENGTH )

RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

o o ooo b @ D (1] g o
2.99+.008
PART NUMBER: MATERIAL:
I-DS-3500-30L-5 STEEL
DESCRIPTION: FINISH:
30" 3500 SERIES SLIDE, LEFT ZINC PLATE

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

> RYADDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
DATE | 3/6/2020 | 1/12/2021 1/7/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1



6 5 4 3 2 1

(1.252+.012 ) { 25.248+.024 )
{ 18.996+.020 )

D 8.500+.020

D
/—(3x 394+,008 X .299+.008 )
5! o oo

; | 8}\ /@
f
(3x ®.299¢.008THRU)—/ ((1.126+.008 )
((2.248£.012) 2X @ .315+.008 THRU
(22524012 )
3.000+.012
c ((22.559+.024 )

( 20.189+.024 )

{_ 13.000+.020 )

((3500£.016 x— (752008 )

( 2.752+.012 )

u -

=
IEO//'

7

( .748+.008 )

&

&
&
8
8

L] un

((.205:.008 X .457+.008
B (CoX ¢.205+.008 THRU

(5X .374¢.008x.205¢.008)—/ (1.000+.008 )
(1752+.012 )

{ 2.500+£.012 )

{_1.000£.008 )

PART NUMBER: MATERIAL:
[-DS-3500-30L-5 STEEL
DESCRIPTION: FINISH:
30" 3500 SERIES SLIDE, LEFT ZINC PLATE
N
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 I ‘ \
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’?ROAF\;W\%?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
A g MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS. DIMENSIONS ARE IN INCHES [
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. -XXXXF[F-{%,ogA$°°§°1[g§°3mml 6 DATE | 3612020 | 11272021 | 17772021
8. EOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: * 1.0 SCALE. 14 DO NOT SCALE SHEET20F 2
6 5 4 3 2 1



' (30+.079 SLIDE LENGTH )

6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 | RGM
B UPDATE TO CURRENT REVISION 2/17/2021 KC
(30130 SLIDE TRAVEL )
I‘_’III ®© 0o o o oo o o ooo b
1.28 -
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

+.031

.75 - .OOO

LT " |
@ |:| D o o o oo U
2.99+.008
PART NUMBER: MATERIAL:
I-DS-3500-30R-5 STEEL
DESCRIPTION: FINISH:
30" 3500 SERIES SLIDE, RIGHT ZINC PLATE

> RYADDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
DATE | 1/19/2021 | 2/17/2021 2/16/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1

A



6 5 4 3
{ 25.295+.024 )
(18 996+ 020 )
{_ 18.996+.020 )

( 1.252+.012 ) 8.500+.020

3X.394+.008 X .2991.008)

-0

SN

(3X .299+.008 THRU )J

((2.248£012) \—( 2X @ .315£.008 THRU )—/

— 22.474+.024

( 1.079+.008 )
( 2.252+.012 )

6.000+.016

13.000+.020

(2.752+.012 ) ( 3.500+.016 )=

{_.752+.008 )

{ 20.274+.024 )

,—(5X .374+.008 X .205+.008 )

1y
E =
an
mo/g/oo o o o o @’/ o DD D ||EE
= .u
(205008 X .457¢.008)—/ (1.169+.008 )
<6X @ .205+.008 THRU ( 1.921£.012 )
{ 2.669%.012 )
( .748%.008 ) { 1.000£.008 )
PART NUMBER: MATERIAL:
[-DS-3500-30R-5 STEEL
DESCRIPTION: FINISH:
30" 3500 SERIES SLIDE, RIGHT ZINC PLATE
ISO
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 ()
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’?ROAF\;W\%?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS.
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. X)-(>)<(>)<(X gi>><<>>(<]=— i%%g)%(l)og%n] NAME | KCHEN MB PN B
;SN e T TSR | e | (0} £ | A [ore T amor| g
i : ANGULAR: £1.0 SCALE: 14 DO NOT SCALE SHEET 2 OF 2
6 5 4 3 2 1



((32+£.079 SLIDE LENGTH )

o

6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A 111152018 | RGM
B UPDATE TO CURRENT REVISION 1/12/2021 KC
(" 32+.130 SLIDE TRAVEL )
e J
Ku‘ o 0o o o o o o ooo b
J 1.28
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:
TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.

GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

© & : :
2.99+.008
PART NUMBER: MATERIAL:
[-DS-3500-32L-5 STEEL
DESCRIPTION: FINISH:
32" 3500 SERIES SLIDE, LEFT ZINC PLATE
N
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 1/6/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1



6 5 4 2 1
97 942+ 004 )
( 1.252+.012 ) ( 27.248+.024 )
{ 21.000+.024 )
{ 14.748+.020 ) D
8.500+.020
m@ I / / Ty
f
((3X ©.299+.008 THRU )—/ ((2.248£.012 ) )_/ (1.126+.008 )
C3X .394+.008 X .299+.008 2052+ 012
(3X ®.315+.008 THRU
3.000+.012
C
(24.559+.024 )
( 22.189+.024 )
6.000+.016
(2752£.012 ) (3500+.016 )~ (7526008 )
o B p o ® o ¢ e ® oo
=
205+.008 X 457+, )—/D
B (205008 X 457008 ((5X.374+.008 X .2051.008)—/ (' 1.000£.008 ) B
( 5X ¢.205+.008 THRU (1.752£.012 )
(748008 ) (1.000£.008 ) 2.500+.012
PART NUMBER: MATERIAL:
[-DS-3500-32L-5 STEEL
DESCRIPTION: FINISH:
32" 3500 SERIES SLIDE, LEFT ZINC PLATE
W anN
=0 RYAEDN INC.
NOTES: NS
; B'é”ﬁg?'ggi‘ép&ﬁl V;t\/m'(IEER FINISH. 9001:2015
3. BREAK ALL SHARP EDGES AND REMOVE ALL BURRS. : EROPRIFTARY AND CONTIDFNTIA.
¢ MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE INPERFECTIONS OTHER THAN ;::;;;s;:EAF:;V:::;:;F[';Z] TR T T AR NAVG, Y REFRODUCTION A
5 CRITICAL DIMENSIONS ARE INDICATED BY: (D XXIX] = £ 0.03 08 THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6.  TOBE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XX [XX] = * 0.015 [0.38mm] NAME | KCHEN VB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. R O & 0 0080 [0.203mm] 6 DATE | 3612020 | 111202021 | 17612021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: * 10° SCALE. 14 50 NOT SCALE SEET2072
6 5 4 2 1



6 5 4 3 2
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAMIE AS REV A) 1111512018 | RGM
B UPDATE TO CURRENT REVISION 2/17/2021 KC
(' 32+.130 SLIDE TRAVEL ) ( 32+.079 SLIDE LENGTH )
I -
mJ'ooo o oo o Qacob @ Dlﬂ o [¢] o 0o o0
I '
1.28
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

+.031

.75_ .000

PART NUMBER:
I-DS-3500-32R-5

MATERIAL:

STEEL

DESCRIPTION:
32" 3500 SERIES SLIDE, RIGHT

FINISH:

ZINC PLATE

> RYADDN INC.

DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

XX[X] = +0.03 [0.8mm]

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY  |REV
NAME KCHEN MB PN B
DATE | 1/20/2021 | 2/17/2021 2/16/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1

A



B

6 5 4 3
{ 27.248+.024 )
{ 21.000+.024 )
{ 14.748+.020 )

8.500+.020

(1.252+.012 )

g

AN

/’

/

;

(2248012 )

3X .299+.008 THRU )

(1.126+.008 )
%x @ 315+.008 THRU )—/

2 252+ 012

/—Csx 394,008 X .299+.008 )

@ @__ /—< 5X .374+.008 X .2051.008)
.
= =
m@}}f@ & o @ @’/ o & oo |.|=.::
= =
(205+.008 X .4571.008)—/ ((1.000:-.008 )
("5X ©.205+.008 THRU (1752012 ) (25002012 )
@ @ PART NUMBER: DS.3500.32R.5 MATERIAL: STEEL
DESCRIPTION: FINISH:
32" 3500 SERIES SLIDE, RIGHT ZINC PLATE

NOTES:

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

NSO R~

AN
ISO
g

9001:2015

RYAERDN INC.

UNLESS OTHERWISE SPECIFIED:

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION

IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1/20/2021 | 2/17/2021 2/16/2021
SCALE: 1:4 DO NOT SCALE SHEET 2 OF 2
2 1



(" 36+.079 SLIDE LENGTH )

+.031
75_7000

6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAMIE AS REV A) 1111512018 | RGM
B UPDATE TO CURRENT REVISION 1/12/2021 KC
' (" 36+.130 SLIDE TRAVEL )
‘ N J
K’I o 0o o o oo o o ooo b
J 1.28
RECOMMENDED
INNER SLIDE MEMBER:

o

|
oooa

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

PART NUMBER: MATERIAL:
I-DS-3500-36L-5 STEEL
DESCRIPTION: FINISH:
36" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 1/7/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2

2

1



6 5 4 3 2
( 1.252+.012 ) { 31.248+.024 )
{_ 25.000+.024 )
D {_ 16.748+.020 )

mx@‘fi o

|

[

/

/

o O

\ (2206£012) \—( 3X ¢ .315+.008 THRU )

(3X .299.008 THRU )A

AVC 3X .394+.008 X 299+ 008)—/1 126+.008
2.252+.012

( 3.000+.012 )

C { 26.189+.024 )
{ 19.000+.020 )
13.000+£.020
6.000+.016
( 2.752+.012 ) ( 3.500+.016 )~ (" 752+.008 )
=
N o e o e o o _

E II I’
1 17

((205+.008 X 457+.008 )J
B (7X ¢ 205+.008 THRU

( .748+.008 )

{_ 1.000+.008 )

NOTES:

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

NSO R~

(5% .374¢.ooax.205¢.oos)—/ (1.000+.008 )

( 1.752+£.012 )

( 2.500+.012 )

PART NUMBER: MATERIAL:
I-DS-3500-36L-5 STEEL
DESCRIPTION: FINISH:
36" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
= RYADBDN INC.
NS
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 1/7/2021
SCALE: 1:4 DO NOT SCALE SHEET 2 OF 2
2 1



6 5 3 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 171512018 | RGM
B UPDATE TO CURRENT REVISION 2/17/2021 KC
+.031
({ 36+.130 SLIDE TRAVEL ) : (( 36+.079 SLIDE LENGTH )
LT 1
mJ°Doo ° oo o o ccoob @ DIDIT‘E‘ o o o 0o oo D
— =] o
1.28 2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
|-DS-3500-36R-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 36" 3500 SERIES SLIDE. RIGHT ZINC PLATE

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.
MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

> RYADDN INC.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

XX[X] = +0.03 [0.8mm]

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
DATE | 1/20/2021 | 2/17/2021 2/16/2021
SCALE: 1:8 DO NOT SCALE SHEET 1 OF 2
2 1

A



{ 31.248+.024 )
{_ 25.000+.024 )

{ 16.748+.020 )

( 1.252+.012 ) 8.500+.020 .3941.008X.299i.008>—\

@1§70 o {\ {R /> L o oo

((2.248£.012 ) N \ (1.126+.008 )
3X ®.315£.008 THRU —

3X @.299+.008 THRU ) (2252012 )

((3.000+.012 )

{_ 28.559+.024 )

{ 26.189+.024 )

(C19.000+.020 )

(_19.000+.02
13.000+.020
6.000+.016 ((5X .374£.008 X .205+.008 )

( 2.752+.012 ) ( 3.500+.016 )= (" 752+.008 )

o

N

o
@
oD
4
o
hd
oD
4
o
hd
oD
4
oD
4

/ / {_ 1.000+.008 )
(7482008 ) (10002008 ) (ias2e012)

{ 2.500+£.012 )

7X (Z) 205+.008 THRU ) PART NUMBER: MATERIAL:
[-DS-3500-36R-5 STEEL
.205£.008 X .4571.008> DESCRIPTION: FINISH:
36" 3500 SERIES SLIDE, RIGHT ZINC PLATE
N
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’?ROAF\;W\%?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
5. gglﬁﬁéﬁf IID:III\'\III:ESI\rl-iS'I:{()EI\?SU LIT:EEE,\AIEI’\EI)ITCS ATED BY: C) XXIX] = £ 0.03 08 THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 [0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-{%,ogA$°°§°1[g§°3mml 6 A DATE | 172012021 | 27172021 | 271612024
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0° SCALE. 14 DO NOT SCALE SHEET20F 2

6 5 4 3 2 1



6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A 1115/2018 | RGM
B UPDATE TO CURRENT REVISION 1122021 | KC

' (" 48+.130 SLIDE TRAVEL )

RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

+.031
7000
( 48+.079 SLIDE LENGTH )
2.99+.008
PART NUMBER: MATERIAL:
I-DS-3500-48L-5 STEEL
DESCRIPTION: FINISH:
48" 3500 SERIES SLIDE, LEFT ZINC PLATE
AN
NS <
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 1/6/2021
SCALE: 1:12 DO NOT SCALE SHEET 1 OF 2
2 1



6 5 4 3 2 1

( 43948+ 024 )
( 1.252+.012 ) { 43.248+.024 )

((36.996+.024 )

D ((22748+.024 )
8.500.020

{ 2.248+.012 )

m@f °

/ / 14
k( 3X ©.315+.008 THRU )Msx 394+.008 X .299+. oos)—/ ( 1.126+.008 )

( 2.252+.012 )
3.000+.012

(3X .299+.008 THRU

((40.559+.024 )
C ((38.189+.024 )
(31.000+.024 )
({19.000+.020 )
13.000+.020
— ((6.000+£.016 )
((3.500+.016 )
((2752+.012 )
=
L/—\-'Io}f‘ . e ® ® ® » o soo |.|=.:
(".205+.008 X 457+.008 )—"
- .752+.008 <5X .374+.008 X .205+.008 1.000+.008 -
B | (" 8X .205+.008 THRU 7522 012
((2500+£.012 )

—]

1.000+.008

PART NUMBER: MATERIAL:
[-DS-3500-48L-5 STEEL
DESCRIPTION: FINISH:
48" 3500 SERIES SLIDE, LEFT ZINC PLATE
N
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 I ‘ \
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN TH|SFE)’?<9\F\;\;TEGTA|\SR %.{E@&_%?ggg;% OF RYADON INC. ANY REPRODUCTION
A g MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS. DIMENSIONS ARE IN INCHES [
5. CRITICAL DIMENSIONS ARE INDICATED BY: () XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE IER(’)OTE%TION DURING TORANSPORT. -XXXXF[F-Q;XCﬁ,ogA$°°§°1[g§°3mml 6 DATE | 3612020 | 11272021 | 1/6/2021
8. EOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: * 1.0 SCALE 16 DO NOT SCALE SHEET20F 2
6 5 4 2 1



6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A 1115/2018 | RGM
B UPDATE TO CURRENT REVISION 21712021 | KC
(" 48+.130 SLIDE TRAVEL )
N J
1.28
RECOMMENDED
INNER SLIDE MEMBER:

#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

3 2 1
(( 48£.079 SLIDE LENGTH ) |
2.99+.008
PART NUMBER: MATERIAL:
I-DS-3500-48R-5 STEEL
DESCRIPTION: FINISH:
48" 3500 SERIES SLIDE, RIGHT ZINC PLATE

> RYADDN INC.

DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

XX[X] = +0.03 [0.8mm]

UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
NAME KCHEN MB PN B
DATE | 1/20/2021| 2/17/2021 2/16/2021
SCALE: 1:12 DO NOT SCALE SHEET 1 OF 2
2 1

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°
3



6 5 4 3 2 1
('3X .394:.008 X .299+.008
(43.248+.024 )
(36.996+.024 )
((22.748+.024 )

{ 22.748%. )

{_8.500£.020 —

\(3x 315+.008 THRU ) \
((2.248£.012 ) 2 g

(1.252+.012 )

g

©

( 1.126+.008 )
( 2.252+.012 )

3.000+.012

3X (9.299+.008 THRU )

{ 40.559+.024 )
38.189+.024
((31.000£.024 )———
{ 19.000+.020 )
13.000+.020
- 6.000+.016 ) =
3.500+.016
((3:500+.016 ) - 752+.008 —(.374+.008 X .205+.008 )
(2752£.012 )
(el ° pr e M ¢ ® ® ° o ® oo
(205008 X 457%.008 )—/ 1.000+.008 -
(8X ¢.205£.008 THRU ) (1.752£.012 ) (o)
2.500£.012
PART NUMBER: MATERIAL:
(' .748+.008 ) (' 1.000+.008 ) 1-DS-3500-48R-5 STEEL
DESCRIPTION: FINISH:
48" 3500 SERIES SLIDE, RIGHT ZINC PLATE
N
1.~ DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
3. BREAK ALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: PROPRIETARY AND CONFIDENTIAL
4 MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN ENSONS RE N NEHES T O D O D AL A ity REFRODUCTION
5 gglﬁﬁéﬁf IID:IIANA:ESI\PI-{S'I:{()EI\(I)SUL%EN:EH—CS ATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6.  TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XRK[XX] = + 0015 0.38mm] NAVE | KCHEN | wB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-{%,ogA$°°§°1[g§°3mml 6 DATE | 172020211 211772021 | 211672021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR + 10° SCALE 16 50 NOT SCALE SEET7053
6 5 4 2 1



6 5 4
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 | RGM
B UPDATE TO CURRENT REVISION 11212021 KC
(_ 54+.130 SLIDE TRAVEL )

RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:

1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

+.031
75_"000

( 54+.079 SLIDE LENGTH )

oer 1

PART NUMBER: MATERIAL:
I-DS-3500-54L-5 STEEL
DESCRIPTION: FINISH:
54" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 1/7/2021
SCALE: 1:12 DO NOT SCALE SHEET 1 OF 2
2 1



6 5 4 3
( 1.252+.012 ) { 49.248+.024 )
{_ 36.996+.024 )

8.500+.020

0 SV \

/

/@w@ea

3X .299+.008 THRU )

N
2.248+.012 \( 2X ( 315£.008 THRU )

(X 3942008 X 299,008 — 1 7 (1.126£.008 )

(2252012 )
3.000+.012

((46559+.024 )

( 44.189+.024 )

19.000+.020

13.000+.020
-~ ( 6.000+£.016 ) |~

(_ 3.500+.016 )
(2752012 )

{_ 31.000+.024 )

N ° G}\\o ° * o ° ° ° P ® oo o
- .752+.008
- C 5X .374+£.008 X .205+.008 1.000+.008 -
8X 205008 THRU ) (1752012 )
.748+.008 = .205+.008 X .4571.008) 2.500+.012
1.000+.008 = PART NUMBER: MATERIAL:
[-DS-3500-54L-5 STEEL
DESCRIPTION: FINISH:
54" 3500 SERIES SLIDE, LEFT ZINC PLATE
N
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 ()
2. DONOT SCALE DRAWING.
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’?ROAF\;W\%?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
5 gglﬁﬁéﬁf IID:IIANA:ESI\PI-{S'I:{()EI\(I)SUL%EN:EH—CS ATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = * 0015 [0.38mm] NAME | KCHEN MB PN B
7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. R oA a0 o opamm] 6 A DATE | 3672020 | 11272021 | 17772024
8. EOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0 SCALE 16 DO NOT SCALE SHEET20F 2
6 5 4 3 2 1



6 5 4 3 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11/15/2018 | RGM
B UPDATE TO CURRENT REVISION 2/17/2021 KC
+.031
75000 =
(_ 54+.130 SLIDE TRAVEL ) ( 54+.079 SLIDE LENGTH ) '
1.8 2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:
I-DS-3500-54R-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 54" 3500 SERIES SLIDE. RIGHT ZINC PLATE

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.

ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6 5 4

> RYADDN INC.

DIMENSIONS ARE IN INCHES [mm]

PROPRIETARY AND CONFIDENTIAL

XX[X] = +0.03 [0.8mm]

UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV
NAME KCHEN MB PN B
DATE | 1/20/2021| 2/17/2021 2/16/2021
SCALE: 1:12 DO NOT SCALE SHEET 1 OF 2
2 1

XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°
3

A



CSX .394+.008 X .299+.008

(49.248+.024 )
D {_36.996£.024 )

( 1.252+£.012 ) 8.500+.020
N% ® 4\

(2248£.012)
\( 2X b 315+.008 THRU )

3X .299+.008 THRU )

J@@@

/"

( 1.126+.008 )
( 2.252+.012 )
3.000+.012

((46.559+.024 )

c (441891024 )
31.000+.024

(19.000£020 y—=—=—
13.000+.020

-~ ( 6.000+£.016 )|
( 3.500+.016 )

_ ( .374+.008 X .205+.008
(2752012 )

[-\_,-h" ﬂ}»«» ® ¢ ¢ @ @ @ §a

1.000+.008 ~
( 1.752£.012 )
(_ 2.500+.012 )

7
1

{_1.000+.008 )

8X .205+.008 THRU )

B (" 748+.008 ) /

+ +
:205+.008 X 457+.008 ) PART NUMBER: MATERIAL:
[-DS-3500-54R-5 STEEL
DESCRIPTION: FINISH:
54" 3500 SERIES SLIDE, RIGHT ZINC PLATE
N

1. DIMENSIONS APPLY AFTER FINISH. 9001:2015 ()

2. DONOT SCALE DRAWING.

3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’?ROAF\;W\%?SR %@o‘i@@?gﬁﬁlﬁ‘# OF RYADON INC. ANY REPRODUCTION
A g MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN DIMENSIONS ARE (N INGHES [ IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

5 gglﬁﬁéﬁf IID:IIANA:ESI\PI-{S'I:{()EI\(I)SUL%EN:EH—CS ATED BY: - XX[X] = + 0030 8] THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY | REV

6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = +0.015 [0.38mm)] NAME | KCHEN MB PN B

7. EN(S)URE P/ECKAGING VgILLO PROVIDESAgEQUATE %%OTE%HON DURING TORANSPORT. R oA a0 o opamm] 6 A DATE 12020211 271772021 | 271672021

8. EOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 1.0 SCALE 16 DO NOT SCALE SHEET20F 2

6 5 4 3 2 1




6

REVISIONS

REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE

A (REV 1 SAME AS REV A) 11/15/2018 | RGM

B UPDATE TO CURRENT REVISION 11212021 | KC

| (60130 SLIDE TRAVEL )
N eoee o oo 0 o °coo )

RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

OUTER SLIDE MEMBER:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES.

SIDE SPACE = .750" - .783"

NOTES:

NSO R~

DIMENSIONS APPLY AFTER FINISH.
DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.

MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN

SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:

TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

(60+.079 SLIDE LENGTH )

@ D 0| ° ° oo oa D
2.99+.008
PART NUMBER: MATERIAL:
I-DS-3500-60L-5 STEEL
DESCRIPTION: FINISH:
60" 3500 SERIES SLIDE, LEFT ZINC PLATE

SRR

= | RYADBDN INC.
v

9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 1/7/2021
SCALE: 1:14 DO NOT SCALE SHEET 1 OF 2
2 1

A



(_ 6.000+£.016 )

( 3.500£.016 )

(2752012 )

((31.000+.024

{_19.000+£.020 }—
13.000+.020

6 5 4 3 2
(1.252£.012 ) ((55.248+.024 )
((36.996+.024 )
D (( 22.748+.024
8.500+.020 (3x .394i.008X.2991.008)—\
| \ j
® ® o0
f T~ / / 13
((3X ©.299+.008 THRU )J \4 1.126+.008 L
(2282012 3X @ .315+.008 THRU ) 5 2502012
3.000+.012
c ((52559+.024 )
(501898004 ) ————
((50.189+.024 )

('5X .374.008 X .205+.008 )\

S

LR 2

Y

=
0
® e h;

5

("205£.008 X 457+.008 )
B |(8X .205+.008 THRU

NOTES:
DO NOT SCALE DRAWING.

NSO R~

6

DIMENSIONS APPLY AFTER FINISH.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.
MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:
TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

5

1.000+.008 ~r
( 1.752£.012 )
( 2.500+.012 )

PART NUMBER: MATERIAL:
I-DS-3500-60L-5 STEEL
DESCRIPTION: FINISH:
60" 3500 SERIES SLIDE, LEFT ZINC PLATE
STER
= | RYADBDN INC.
NS
9001:2015

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION

SIZE

ENGR

SALES

QUALITY

REV

NAME | KCHEN VB PN B
@ 6 DATE | 3/6/2020 | 1/12/2021 | 1/7/2021
SCALE: 18 DO NOT SCALE SHEET 2 OF 2
2 1



6 3 2 1
REVISIONS
REV. DESCRIPTION DATE BY
INITIAL DRAWING RELEASE
A (REV 1 SAME AS REV A) 11152018 | RGM
B UPDATE TO CURRENT REVISION 2/17/2021 KC
+.031
(_60+.130 SLIDE TRAVEL ) (60+.079 SLIDE LENGTH )
I‘_"."" o oo o ° ° ° sncc' @ Dn o o cnoa u

1.28 2.99+.008
RECOMMENDED
INNER SLIDE MEMBER:
#10 MACHINE OR WOOD PAN HEAD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. PART NUMBER: MATERIAL:

[-DS-3500-60R-5 STEEL
OUTER SLIDE MEMBER: DESCRIPTION: FINISH:
1/4 HEX BOLT, #14 PAN HEAD WOOD SCREW FOR ALL THRU HOLES AND SLOTTED THRU HOLES. 60" 3500 SERIES SLIDE. RIGHT ZINC PLATE
SIDE SPACE =.750" - .783" I/?O
NOTES: it
1. DIMENSIONS APPLY AFTER FINISH. 9001:2015
2. DONOT SCALE DRAWING.
0 CONFIDENTIAL
3. BREAKALL SHARP EDGES AND REMOVE ALL BURRS. UNLESS OTHERWISE SPECIFIED: THE INFORMATION CONTAINED IN THISFE)’?RAF\;W\%?SR 1\f|-/I}ENgOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
4. MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.
SURFACE FINISH REQUIREMENTS. PIENSIONSARE ININCHES [ THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
5. CRITICAL DIMENSIONS ARE INDICATED BY: C D) XX[X] = +0.03[0.8mm]
6. TOBEINSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED. XXX [XX] = + 0.015(0.38mm] NAME | KCHEN MB PN B
7. ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT. -XXXXF[F-{%,ogA$2°§°1[g§°3mml DATE | 12020211 211772021 | 211672021
8. GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL. ANGULAR: + 10° SCALE 114 DO NOT SCALE SHEET10F 2
6 5 4 2 1

A



1.252+.012

22.748+.024

36.996+.024

{ 55.248+.024 )

(13X 394+.008 X .2991.008)—\

87

~

9\

/

\%0@@

(3X ©.299+.008 THRU

\( 3X @ 315+.008 THRU —>
(2.248£.012)

((1.126+.008 )
(2.252+.012 )

( 2.752+.012 )

—( 3.000+.012

(.205+.008 X .457+.008

( 8X .205+.008 THRU

———————( 52550+.024 )
( 50.189+.024 )——r=x
({31.000+.024
(' 19.000+.020
13.000+.020
( 6.000+.016 )
(/3500016 ) /—( 5X .374+.008 X .205+.008 )
° * * e * * * od ® o0 ® :@
)J 752+.008 1.000+.008 ~r
)_/ ( 1.752+£.012 )
i 1.000+.008 { 2500£.012 )
PART NUMBER: MATERIAL:
.748+.008 ~ |-DS-3500-60R-5 STEEL
DESCRIPTION: FINISH:
60" 3500 SERIES SLIDE, RIGHT ZINC PLATE
W anN
=0 | RYARDN INC.
NS
9001:2015

NOTES:
DIMENSIONS APPLY AFTER FINISH.

NSO R~

DO NOT SCALE DRAWING.

BREAK ALL SHARP EDGES AND REMOVE ALL BURRS.
MUST HAVE NO SCRATCHES, DINGS, DENTS OR SURFACE IMPERFECTIONS OTHER THAN
SURFACE FINISH REQUIREMENTS.

CRITICAL DIMENSIONS ARE INDICATED BY:
TO BE INSPECTED TO 2.5 AQL SAMPLING PLAN UNLESS OTHERWISE STATED.
ENSURE PACKAGING WILL PROVIDE ADEQUATE PROTECTION DURING TRANSPORT.
GEOMETRIC FEATURES NOT DIMENSIONED ARE CONTROLLED BY 3D MODEL.

6

5

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN INCHES [mm]

XX[X] = +0.03 [0.8mm]
XXX [XX] = + 0,015 [0.38mm]
XXXX [XXX] = + 0.0080 [0.203mm]
FRACTIONAL = + 1/32"
ANGULAR: + 10°

PROPRIETARY AND CONFIDENTIAL

ENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF RYADON INC. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF RYADON INC. IS PROHIBITED.

THIRD ANGLE PROJECTION SIZE ENGR SALES QUALITY |REV
NAME KCHEN MB PN B
@ 6 DATE | 1/20/2021| 2/17/2021 2/16/2021
SCALE: 1:8 DO NOT SCALE SHEET 2 OF 2
2 1



	I-DS-3500-12L-5_REV_B
	I-DS-3500-12R-5_REV_B
	I-DS-3500-14L-5_REV_B
	I-DS-3500-14R-5_REV_B
	I-DS-3500-16L-5_REV_B
	I-DS-3500-16R-5_REV_B
	I-DS-3500-18L-5_REV_B
	I-DS-3500-18R-5_REV_B
	I-DS-3500-20L-5_REV_B
	I-DS-3500-20R-5_REV_B
	I-DS-3500-22L-5_REV_B
	I-DS-3500-22R-5_REV_B
	I-DS-3500-24L-5_REV_B
	I-DS-3500-24R-5_REV_B
	I-DS-3500-26L-5_REV_A
	I-DS-3500-26R-5_REV_A
	I-DS-3500-28L-5_REV_B
	I-DS-3500-28R-5_REV_B
	I-DS-3500-30L-5_REV_B
	I-DS-3500-30R-5_REV_B
	I-DS-3500-32L-5_RVE_B
	I-DS-3500-32R-5_REV_B
	I-DS-3500-36L-5_REV_B
	I-DS-3500-36R-5_REV_B
	I-DS-3500-48L-5_REV_B
	I-DS-3500-48R-5_REV_B
	I-DS-3500-54L-5_REV_B
	I-DS-3500-54R-5_REV_B
	I-DS-3500-60L-5_REV_B
	I-DS-3500-60R-5_REV_B

